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WILLBRANDT Druckverluste

Druckverlust iiber Durchflussmenge fiir Typen 39, 46, 50 und 55

DN6} - £=0,54 | DN{50 - £=0,19
/ N T
2

DN200 - J;=D,1T\

20 I 111 ry I |
DN20, 25, 32 - (=0,6 V \
DNBO - 7=0,49
|
10 /
]
9 L] DN100 - £=0,44
g| DN40-c=059 | | | \J
IR A / 1
= & | 1] /
2 ! /
— 5| DN50-£=0,56 __DN125-¢=0,35
o ™
b= [ \
» 4 i
=
o
< /
O T
=
&)

S 10 50 100 500 1000

Durchflussmenge [m3/h] ——»

105



WILLBRANDT
R B IHECEHINTE

WILLBRANDT Druckverluste

Druckverlust iiber Durchflussmenge fiir Typ 48 und Typ 49
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